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1.

A car of mass 1200 kg moves up a straight road. The road is inclined to the horizontal at

: 1 . : .
an angle a where sina = 15 The car is moving up the road with constant speed 10 m s~

and the engine of the car is working at a constant rate of 11 760 watts. The non-gravitational
resistance to motion has a constant magnitude of R newtons.

(a) Find the value of R.
C))

The rate of working of the car is now increased to 50 kW. At the instant when the speed
of the car is ' m s7!, the magnitude of the non-gravitational resistance to the motion of the
car is 700 N and the acceleration of the car is 1.5 ms™.

(b) Find the value of V.
(6)
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2.

A I

2a

v U

A4 4 a » B
Figure 1
A uniform lamina is in the shape of a trapezium ABCD with AB = a, DA = DC = 2a
and angle BAD = angle ADC = 90°, as shown in Figure 1.
The centre of mass of the lamina is at the point G.
(a) (i) Show that the distance of G from 4B is I()Ta.
(i1) Find the distance of G from AD.
()
The mass of the lamina is 3M. A particle of mass kM is now attached to the lamina at B.
The lamina is freely suspended from the midpoint of 4D and hangs in equilibrium with
AD horizontal.
(b) Find the value of &.
3)
J
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3. A particle P moves along a straight line. At time # = 0, P passes the point 4 on the line
and at time ¢ seconds the velocity of P is vm s~ where
v=02t-3)(t-2)
At ¢t = 3, P reaches the point B. Find the total distance moved by P as it travels from
A to B.
(6)
_J
10

P 4 8 3 2 8 A 01 0 2 8

VAUV SIHLNIZLYMIONOG

%

osones
G
Sy

S

S

s
0}”
,::0

<5
oo

55
o
%8

55

%’
.%Q
=

&
o‘o‘o:b:’o‘o 0:6’
fetebeletets!

%
o
e

&

<
e
i
5

o

05

S
¢
ik

SN

ey
s

o

G,
oo



WWW.igexams.com

Leave
blank
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4. A particle P of mass 0.2 kg is moving with velocity (20i — 16j) ms™! when it receives an
impulse (- 6i + 8j) N's.
(a) Find the speed of P immediately after it receives the impulse.
)
(b) Find the size of the angle between the direction of motion of P before the impulse is
received and the direction of motion of P after the impulse is received.
Q)
J
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5. Two particles P and Q, of masses 2m and 3m respectively, are moving in opposite
directions along the same straight line on a smooth horizontal plane. The particles collide
directly and, as a result of the collision, the direction of motion of P is reversed and the
direction of motion of Q is reversed. Immediately after the collision, the speed of P is v

: o 1
and the speed of O is 32—V The coefficient of restitution between P and Q is 3
(a) Find
(i) the speed of P immediately before the collision,

(i1) the speed of O immediately before the collision.
(7

After the collision with P, the particle O moves on the plane and strikes at right angles a
fixed smooth vertical wall and rebounds. The coefficient of restitution between Q and the
wall is e. Given that there is a further collision between the particles,

(b) find the range of possible values of e.
3)
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6. A ball of mass 0.6kg is projected vertically upwards with speed 22.4 m s~ from a point
which is 1.5m above horizontal ground. The ball moves freely under gravity until it
reaches the ground. The ground is soft and the ball sinks 2.5cm into the ground before
coming to rest. The ball is modelled as a particle and the ground is assumed to exert
a constant resistive force of magnitude R newtons on the ball. Using the work-energy
principle, find, to 3 significant figures, the value of R.
6))
J
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30°

A

Figure 2

A uniform rod 4B has mass m and length 2a. The end 4 is in contact with rough horizontal
ground and the end B is in contact with a smooth vertical wall. The rod rests in equilibrium
in a vertical plane perpendicular to the wall and makes an angle of 30° with the wall, as
shown in Figure 2. The coefficient of friction between the rod and the ground is u.

(a) Find, in terms of m and g, the magnitude of the force exerted on the rod by the wall.

“

3
(b) Show that u > %
3

. : : 3
A particle of mass km is now attached to the rod at B. Given that u = £ and that the rod
is now in limiting equilibrium, 5

(c) find the value of £.
(6)
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8. At time ¢ = 0 seconds, a golf ball is hit from a point O on horizontal ground. The
horizontal and vertical components of the initial velocity of the ball are 3Ums™! and
Um s respectively. The ball hits the ground at the point A4, where O4 = 120 m. The ball
is modelled as a particle moving freely under gravity.
(a) Show that U= 14
(©))
(b) Find the speed of the ball immediately before it hits the ground at 4.
2
(c) Find the values of # when the ball is moving at an angle a to the horizontal, where
tana = l
4
()
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